EJERQUO 1:

& B8 + B -3[T + 2§ = 75+ B[7F - 3[T+2{7H -
= 85{Z+3W2 -3 +23]7 _ (40+¢-346)1Z - WAlT

EJERGGO L

oy (L2Y= 7.log (29) - 9 (1og001- loy®) -

= 20 -l = 2 (-2x10 -lnscx> = 2(-24-3)= 269)= -0

o Fomg - Si U= 2 a=i0® lugp:

33 ‘ . |
(0 Sy ((\)02‘\) l”f) K:gs ) 0-5)2= \03\0 & 10
Dy (10 3) - loy (10-0)- o b2~ o Ltz -

= i-:l
M?)%

R lugpo: \mg(lo-sﬁ)"b'): log (40-40) = [D&\D'L: 9

EYEROGO B
; S.o\wm o cadaunm
Reckas e
. ""3"2\ an 00F)
QE X=-A WJD X-l:)( 0% Lo
b= xan=l k (%be‘ Qe NO
ocm\—w\e o ()(.o_))
P -
VERTICES !
A=riit =sNt ., c-rlls:
»c-yflk X=-\ \3 =5 i
x+y=h SN e ‘s' NP,

k=0 x=1 ) Y=3
HOTA |



